
CBCS/B.A./B.Sc./Hons./2nd Sem./ECOACOR03T/2020 

2011 1  Turn Over 

 
WEST BENGAL STATE UNIVERSITY 

B.A./B.Sc. Honours 2nd Semester Examination, 2020  

ECOACOR03T-ECONOMICS (CC3) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 
1. Answer any five questions: 

েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) How is personal disposable income computed from GNP? 
ব°িkগত ব°য় েযাগ° আয় GNP েথেক িকভােব পিরমাপ করা যায় ? 

(b) What is paradox of thrift? 
িমতব°িয়তার আপাত িবেরাধ কােক বেল ? 

(c) Explain the implication of a point off the IS curve. 
IS েরখার বিহs িবn ু িক িনেদ�শ কের ? 

(d) What is inflation tax? 
মুdাsীিত কর কােক বেল ? 

(e) What is demand pull inflation? 
চািহদার বৃিd জিনত মুdাsীিত কােক বেল ? 

(f) Mention two anti inflationary policies. 
মুdাsীিত েরাধক dিট নীিত উেlখ কেরা। 

(g) What is Investment multiplier? 
িবিনেয়াগ gণক িক ? 

(h) What is liquidity trap? 
তারেল°র ফাঁদ কােক বেল ? 

  
2. Answer any four questions: 

েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) What is value-added method? Explain with example. 
মূল° সংেযাজন পdিত কােক বেল ? উদাহরণসহ ব°াখ°া কেরা। 

(b) Explain why government expenditure multiplier is positive but tax rate multiplier 
is negative? 
সরকাির খরেচর gণক ধনাtক হেলও কর হােরর gণক ঋণাtক হয় েকন ? 
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(c) Write a note on inflation. 
মুdাsীিতর উপর একিট টীকা েলেখা। 

(d) Determine the equilibrium national income in the simple Keynesian model stating 
all the assumptions. 
সমs অনুধারণার উেlখ কের সরল েকনিসয় মেডেল ভারসাম° জাতীয় আয় িনধ�ারণ কেরা। 

(e) What is value added method? Explain with example. 
মূল° সংেযাজন পdিত কােক বেল ? উদাহরণ িদেয় ব°াখ°া কেরা। 

(f) How central bank controls money supply in an economy? 
েকােনা অথ� ব°বsায় েকndীয় ব°াì িকভােব অেথ�র েযাগান িনয়ntণ কের ? 

  
3. Answer any two questions:  

েয-েকােনা dিট  pেűর উtর দাওঃ 
10×2 = 20

(a) Explain the identity of National Income, National Product and National 
Expenditure. 
জাতীয় আয়, জাতীয় উৎপাদন ও জাতীয় ব°েয়র অেভদিট ব°াখ°া কেরা। 

(b) “Fiscal and Monetary policies differ in their impact on the composition of 
aggregate national output” — Explain. 
‘‘সমg জাতীয় আেয়র গঠেনর উপর pভাব সৃিŶেত রাজs নীিত ও আিথ�ক নীিতর েkেt পাথ�ক° লk° 
করা যায়।’’ ব°াখ°া কেরা। 

(c) Explain the crowding out effect in the IS-LM framework. How this can be 
neutralized?  
IS-LM কাঠােমােত ভীড়জিনত িনkমন pভাবিট ব°াখ°া কেরা। িকভােব এই pভাব pশমন করা যায় ? 

(d) Write a comparative note on Classical and Keynesian system. 
rপদী অথ� ব°বsা এবং েকনিসয় অথ� ব°বsা িনেয় একিট tলনামলূক টীকা েলেখা। 

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  
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